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ECE-320, Quiz #1
1) Assume we have the transfer function
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and use partial fractions to determine the corresponding impulse response
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. How many terms are there in the partial fraction expansion?

a) 1

b) 2

c) 3

d) 4

2) For the transfer function
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the corresponding impulse response 
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 is composed of which terms?

a) 
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b) 
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c) 1 and 
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d) 
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e) 1, 
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, and 
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3) For the transfer function
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the corresponding impulse response 
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 is composed of which terms?
a) 
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b) 
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c) 
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d) 
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Continued on back...

4) An impulse response 
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The corresponding transfer function (for some constant value A)  is

a)
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 b) 
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c)
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d) 
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5) For the function 
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the final value 
[image: image28.wmf]()

yt

 as 
[image: image29.wmf]t

®¥

 is

a) 1

b) 0

c) 2

d) undefined

6) For the function
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the final value 
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a) 0

b) 2

c) 10

d) undefined

7) For the function
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the final value 
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 as 
[image: image35.wmf]t

®¥

 is

a) 0

b) 0.25

c) 1

d) undefined
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